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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307218355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307218357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307218359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307218354 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307218355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307218357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307218359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072720
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307218360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307218360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307218361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307218361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307218363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307218363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307218364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307218364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307218365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307218365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307218368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307218368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307218369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307218369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307218370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307218370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307218371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307218371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307218372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307218372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307218373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307218373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307218374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307218374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307218375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307218375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307218376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307218376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307218377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307218377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307218378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307218378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307218379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307218379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307218380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307218380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307218381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307218381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307218382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307218382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307218386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307218386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307218388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307218388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307218389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307218389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307218390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307218390 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307218393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307218393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd
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Options :
1.1
2.2
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4.4

Question Number : 40 Question Id : 53307218394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307218394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) 7 Y Syeliern 1 e § W 9 R I A €
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307218395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307218395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307218396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307218396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307218397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307218397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e ge €

E) T fermie, T
A few o el o § @ I T A
(1) A (A), (B) (C)
() A () () D)
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Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307218398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307218398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307218399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307218399 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072721
Question Shuffling Allowed : No

Question Id : 53307218400 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307218401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307218402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307218404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307218405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218400 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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fergl 1 S fren; S ST 3 2 TR €, 32 W SR o o T TR, T Seerd, sifeck &
o SPAT 1 SA formeul-er e A

Sub questions

Question Number : 46 Question Id : 53307218401 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307218402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307218404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307218405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Persian
Section Id : 533072242
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072722
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307218406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The name of the official language of Sassanid period was:

Lokl (g
2 gl sy
3 gl s e
ok gl

Options:

1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 53307218406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The name of the official language of Sassanid period was:

Lokl (g
2 gl sy
3 gl s e
ok gl

Options:

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 53307218407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¥ &l 15 authored by:
1 . 6.).9:‘.L;‘.‘."‘ _;U::.c-
2. SEF b

4 u.o'l;— CJL«:—)':.L:.P



Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y &l 15 authored by:

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307218408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I 3LJ 15 the title of:
18 Sl s Jadl>

2. Gl g

Y

qu";.r-:"‘ h_;;HB

4SS sl

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307218408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I oL 15 the title of:
18 S o La3l>

2. Gl e

2

il ST6

4SS sl



Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307218409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3y sS 3l6 0dy 4> > Wasadisciple and successor of:
L il g 2

A ._,La.atlfw.dt,wm 4.3-1‘9:5-

3o SE ks elp

o Al m

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307218409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



33 sS 316 0y 4> > Wasadisciple and successor of:
L sl g el

2o gl il el

3o SK i el

oAl

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book «. # & ,twas written by:

r
:
,—-{G'
5



Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book «.i 3 % ,twas written by:

r
:
’z[;-:
§

4. dlae &

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The famous Madrasa at Bidar was established by:

]. ol -M.‘-'-t;ﬁ.\.“ ;_.JLG..‘;

4. ol Lo Cﬁ'mf')b

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The famous Madrasa at Bidar was established by:
I ol Lo ‘ﬁ.\.“ ""’LG":

4. ol Lo &J.“r.){ﬁ

Options :
1.1



2.2
3.3
4.4

Question Number : 57 Question Id : 53307218412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tazkiraes e <135 was compiled by:
| SR I S PR

I

S f (SoseP

4. G 515 petST
Options :

1.1

2.2

3.3
4.4

Question Number : 57 Question Id : 53307218412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tazkirae »le 135 was compiled by:

| SR IS PR

3.0 Sxhs sosb

4. Gad 5 penSd
Options :

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 53307218413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5,133 belongs to the period of Persian language:
[ Lyl
2o Gkl ol

3. Ak gl



Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4,13 belongs to the pertod of Persian language:
L Ll

2o Gkl b

]

L )

4 sde

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307218414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The & g 428 was 1nscribed 1n the Script:
I S b

2. sk b

e

Syl b

4. u."u}..o.h.s-

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307218414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The & g 428 was 1nscribed 1n the Script:

I S b
2. sde b
3. Syl ks
4. o) s b
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 53307218415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sanskrit language has more similarities with:

2. Al o)l

s

S ol

4. gdw 0L}



Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307218415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sanskrit language has more similarities with:

2. Ldr )l

(2

S ol

4. gdw 0L}

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307218416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L sl &b S sheds light on the ancient historical pertod
of:

[ Obsbed e

2. hdulse by

3

ko llabt:

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307218416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L sl &b S sheds light on the ancient historical pertod
of:

[ Obsbed e

2. hdulse by

3

ko llabt:

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307218417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The tamous battle of Nihawand between Arabs and Persians
was regarded by Arabs as:

Loyl
2o sl
N

oAl

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307218417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The tamous battle of Nihawand between Arabs and Persians
was regarded by Arabs as:

Loyl
2o sl
N

oAl

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Leebsl allz> 15 a poet of:
1. L}E_;U?.-.a ;)_’.'J

2% . B

2

oL 2l o4

4. Obgss e

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o3l > 15 a poet of:
1. ;}EJW ;_;_9.'!

2 . B

oy

oL 2l 6,40

4. LbsE e



Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

«U :p 51 1s a mathnavi composed by:
Lo & sl
2. Pl ks el

2

SS9 soles

4 LSS

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



wU ¢ 31 1s a mathnavi composed by:
Lo & sl
2. A g el

oy

S92 oles

4 S sSS s

Options:
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307218420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Persian literature “The Father of poetry” 1s:
Lo (sh s

2. SRS

3o gk e (3,

4 by )

Options :



1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307218420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Persian literature “The Father of poetry” 1s:
Lo (sh (g3

2. SIS

(D

SRSy S33)

4o by )

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



&l kind of poetry is associated with:

3.0 s8R Sl
4. s
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307218421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl kind of poetry is associated with:

2. pls pe

‘o

S5 ol

4 &8



Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307218422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jalaluddin Rumi composed mathnavi at the mstance of:

L 4 ol

NG P

4. BT 7] JJJ‘;LGJ

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307218422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Jalaluddin Rumi composed mathnavi at the mstance of:

L Wy otk

NG T
4. Jaes &JJ‘;L&!
Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307218423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Newly elected president of Iran 1s:

3. L_;;Lﬁ-}.)&...ﬁ-

Options :
1.1



2.2
3.3
4.4

Question Number : 68 Question Id : 53307218423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Newly elected president of Iran 1s:
2 i > e !

e

h;?b-‘,.)a...;-

4. o

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307218424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentity the <aetn the following couplet;
R P s g 2 elsla 8

2. Wl

4, }J;:J‘ CJlja
Options:

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307218424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentity the <aetn the following couplet;
R P s g 2 elsla 8

2. Wl

4, }J;:J‘ CJlja
Options:

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307218425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the cuwetn the following couplet:
b Sbesi il powr) € ISl K G

ool o et U 33 Ul 6 Cuol S 413 € gy e

1 ]
Lo g
ooy d

4. ]JaJl Qi’a

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307218425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the cuwetn the following couplet:
b Sbesi il powr) € ISl K G

ool o et U 33 Ul 6 Cuol S 413 € gy e

1 ]
Lo g
ooy d

4. ]JaJl Qi’a

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9 d=Llos 1S written by:
. pad Kl

(Y

S S SosP

4o Sl B

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s 4>=Llgs 15 written by:
1. d S

(2

S5 S48

4. Gl S



Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mathnavi ,4 4 Las and ;188 4 ;4w were composed by:
L M b

2 il B

3o Goplas gl

b Gl bs

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Mathnavi ,4 4 Las and ;188 4 ;4w were composed by:

Ll b
2o st G

3o Gamlew i

b G s

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307218428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Faizi Fayyazi was born 1n the year:

1. 954 AH.
2.  955AH.
3. oall
4. DiAllL
Options :

3.3



4.4

Question Number : 73 Question Id : 53307218428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Faizi Fayyazi was born 1n the year:

1. 954 AH.

2.  955AH.
3. 956 AH.
4. 957 AH.
Options :

g

3.3

Question Number : 74 Question Id : 53307218429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Shgin 3215 buried at:

1. .'bl..adl Jo>|

2. L8

(N
\



Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307218429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sdgin 3215 buried at:

1. .'!'l..adl Jo>|

2. L8

(N
\

4. Tk

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307218430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The author of j 2l o liwsis:

Lo S A
3w e

e

w&.ﬁu &JJ':;L:@

4. u.aL..La Sl e

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307218430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The author of j 2l o liwsis:

Lo S A
3w e

e

w&.ﬁu &JJ':;L:&

4. u.aL..La Sl e

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A m b0l slas 1s famous as:

2. A b
3. La Llals

4. olals b b



Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A m b0l sl 1s famous as:

2. R =8
3. La Llals

4. Slals Clad @JU

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307218432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Zlr ok Was awarded with the title of oLl % by.

[ el Ol
3. an Cﬁ.U‘r.)'U- ol

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307218432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Zlr ok Was awarded with the title of oLl % by.

[ el Ol
8 an Cﬁ.U‘r.)'U- Olakw

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wl 3l 4w 15 written by:
L. S S

i) -5.)"'".;'.)'.‘.'“‘

oy

4. Sy opdlls



Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wb 3l 4w 15 written by:
[ N Sl

2 ‘5}...4-}_._.4';

b

4. uf;.ﬁ ‘:ﬁ.\.“r.L;--.b

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307218434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The book 7 sl 14155 0f 4 s sl 15 famous as:
L sl gl

2. et

3. Mt

4 Sl mb

Options :

1.1

2.2

3.3
4.4

Question Number : 79 Question Id : 53307218434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book 7 sl 15155 0f 4 s sl 15 famous as:
L sl gt

2. et

3. Mt

4 Sl mb



Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307218435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The subject matter of JoBYI 4w 1s:
1. Gsas

2.

N
0
h.

4. K,
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307218435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The subject matter of JoBYI 4w 1s:

1 P
2, B
3. oSk
4. Kaj
Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307218436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The famous book s/sdl &' was started 1n the year:
l. 705AH

2. 706 A.H

3. 707AH

4. 708 A H

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307218436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The famous book s/sdl &' was started 1n the year:
l. 705AH

2. 706 A.H

3. 707AH

4. 708 A H

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307218437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tomb of s j2ew > 1s situated at:

l. PREY

2 olds
3 .':'L;' CJ}.‘:
3 sL1 A
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307218437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tomb of ;5w s 1s situated at:

)
LV
..I:_"'l
]
..E-
L



Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307218438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol 2l @L.,ai was the title of:
L. SugA s

2. sl A ol e

(N

JL:.LQ 1;-

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307218438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2| 2l @L“j’ was the title of:

2. J;L"""f" u"."’f"“

(2

JL:J.G 1;-

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307218439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Srss pil e oS Ol g Was edited by:

1. M.Lw“a

2 Lg,ULs'-):S:

4. Al bl a

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307218439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Srss pll jued S Olgs was edited by:
1. e dazes 25

2. Sl S

3. gapeS dexl

4. Al okl a



Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307218440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book 5 s se 1s written by:

o ﬁjﬁ-l-@'u

oy

Mg (B deses

4. A ol m

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307218440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The book S 3 se 1s written by:

2. éJrSMl

oy

Mg B dems

4 e ol m

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307218441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<5l o> Jlde was born 1

(N
\l..t-.
¢,



Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307218441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<5k o> Jlde Was born 1n:

3. R
4. O,
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307218442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The book 5 w15 written by:
1. SL,S o Gl 1,

(2

4. ol ‘:ﬁ.U'a J....aU

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307218442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book s <15 written by:
. SbL,S oL Gl 15,

(N

j—‘g‘;.l.q.:-'u'c_,.i

i ol ‘:ﬁ.\.l'u J....aU



Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307218443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book & ; 0l slg 15 written by:

2. Culas Bslp

N
‘e,
by 5

|
1,

4. Sa_ﬁ- &JL.G

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307218443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The book &; 0l slg 1s written by:

2. Calda Bsle

20
‘e,
by 5

|
%

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307218444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The famous poem . <2 15 composed by:

2. b led

e

SIS i

o



Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307218444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The famous poem . < 15 composed by:

2. mehs bl

d

SIS ekl

4 oy
Options :

1.1

2.2

3.3
4.4

Question Number : 90 Question Id : 53307218445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Short story s, S s 1s written by:
1. colaa Gsle

3 a.‘!'u}'.qu.&*- JLG e d

3.0 L Bl desw
4. SN e e
Options:

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307218445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Short story s ,3sd S s 1S Written by:
1. colaa Gsle

2. n.‘!'uj'.qu..ﬁ*- JLG Aaed

I

S Ab dees

4. ;ﬁw



Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307218446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. CJL«.LwJ.wa....a

e

.

E. 65

Choose the correct answer from the options given below:
[.A,B,C,D,E
2.E.C B A
3.C,AD,B,E
4.B.D,C. A E



Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307218446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. CJL«.LwJ.wa....a

e

.

E. 65

Choose the correct answer from the options given below:
[.A,B,C,D,E
2.E.C B A
3.C,AD,B,E
4.B.D,C. A E



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307218447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A Sl s
B. M5 os
C. s s

D. Jﬁ:).ﬁu JJU

B § e e

Choose the correct answer from the options given below:
Lt BCo DL B
2.5, 0K, DL
3.CE,D,A B
Dk BoRC



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307218447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A Sl s
B. M5 os
C. s s

D. Jﬁ:).ﬁu JJU

B § e e

Choose the correct answer from the options given below:
Lt BCo DL B
2.5, 0K, DL
3.CE,D,A B
Dk BoRC



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307218448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. o:‘j.ﬁy*-dl JLGCJ
dj.ﬂ‘ r.):l.a Ql:-r(.u U),a

Dl e

2

E ool oo iy

Choose the correct answer from the options gtven below:
[.C,A,B,D,E

2.E,B,AC,D

34,0, CER

4.B,E,D,C,A

Options:



1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307218448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B, wljspl Jo
d‘g.U‘ r.BU db-riu U,a

Dl e

e

O

Choose the correct answer from the options given below:
[.C,A,B,D,E

2.E,B,AC,D

34D C.ER

4.B,E,D,C,A

Options :
1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 53307218449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. g‘g::vm.“»_&.if

OFNN FO) (3 Jov g W P [
D, slsdl wlgd
B plnall s

Choose the correct answer from the options given below:
L&BE.D.E
2.C,AE,D,B
LB DEEA
4.D,AECB

Options :
1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 53307218449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. g‘g::vm.“»_&.if

OFNN FO) (3 Jov g W P [
D, slsdl wlgd
B plnall s

Choose the correct answer from the options given below:
L&BE.D.E
2.C,AE,D,B
LB DEEA
4.D,AECB

Options :
1.1



2.2
3.3
4.4

Question Number : 95 Question Id : 53307218450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A g

B. S,

a3

o 7
D A sl

B bl >

Choose the correct answer from the options given below:
.D,C,B,AE
2.A,B,C,D,E
3.E,D,C,A B
4.E,B,D, A C

Options :
1.1



2.2
3.3
4.4

Question Number : 95 Question Id : 53307218450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A g

B. S,

a3

o 7
D A sl

B bl >

Choose the correct answer from the options given below:
.D,C,B,AE
2.A,B,C,D,E
3.E,D,C,A B
4.E,B,D, A C

Options :
1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 53307218451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically
A d i

B.  JWlalp
C. JuSleg
[ g

B oledl g

Choose the correct answer from the options given below:
AR CHLB
% B,C ILE.A
3CAEDD
4. DB, A C.E

Options :
1.1
2.2



3.3
4.4

Question Number : 96 Question Id : 53307218451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically
A il

B. il
C. JuSleg
D. 4

E. o oledl g

Choose the correct answer from the options given below:
LAE G0
2.B,C,D.EN
3CAEDD
4.D,B,A CE

Options :
1.1
2.2
3.3



4.4

Question Number : 97 Question Id : 53307218452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

E Saen

B, wl jusl

Co s
D. Y
. Oy s

Choose the correct answer from the options given below:
1A C, B, B.D
2.8,A, C. D, E
3.0.C, B AB
4.C,E,B,AD

Options :
1.1
2.2
3.3



4.4

Question Number : 97 Question Id : 53307218452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

E Saen

B, wl jusl

Co s
D. Y
. Oy s

Choose the correct answer from the options given below:
1A C, B, B.D
2.8,A, C. D, E
3.0.C, B AB
4.C,E,B,AD

Options :
1.1
2.2
3.3



4.4

Question Number : 98 Question Id : 53307218453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. oyl ol

e

Sz G )l o 21

Choose the correct answer from the options given below:
l{€AEBD
2.E,AD,C,B
3.A,B,C,D,E
4.D,A, B,C,E

Options :
1.1
2.2
3.3



4.4

Question Number : 98 Question Id : 53307218453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

B. oyl ol

e

Sz G )l o 21

Choose the correct answer from the options given below:
l{€AEBD
2.E,AD,C,B
3.A,B,C,D,E
4.D,A, B,C,E

Options :
1.1
2.2
3.3



4.4

Question Number : 99 Question Id : 53307218454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A gpa

B o e

C pSaym
D b ol e
E. b sl

Choose the correct answer from the options given below:
s B Gy DL B
LG ILAE
3Bk BB G
4.E,AD,C,B

Options :
1.1
2.2
3.3
4.4



Question Number : 99 Question Id : 53307218454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A §pa >

B oo o

L #h
Do b ol e
B bojls

Choose the correct answer from the options given below:
Lot B G DL E
ARG D.AE
3.8 BB
4.E,A,D,C,B

Options :
1.1
2.2
3.3
4.4



Question Number : 100 Question Id : 53307218455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A vl LS|

B. sligt
C. gt

D. psdl gl
E. o wboasl

Choose the correct answer from the options given below:
EC DA BB
2.8 TLE. B
3. 8. DL AE.C
4.C,D,A E, B

Options :
1.1
2.2
3.3
4.4



Question Number : 100 Question Id : 53307218455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A vl LS|

B. sligt
C. gt

D. psdl gl
E. o wboasl

Choose the correct answer from the options given below:
EC DA BB
2.8 TLE. B
3. 8. DL AE.C
4.C,D,A E, B

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 53307218456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A )y

e
C. gt

N
B, &8s

Choose the correct answer from the options given below:
LABCDE
2B C.ILAE
3.D,E,C,A B
4.D,B, A, C,E

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 53307218456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A )y

e
C. gt

N
B, &8s

Choose the correct answer from the options given below:
LABCDE
2B C.ILAE
3.D,E,C,A B
4.D,B, A, C,E

Options :
1.1
2.2
3.3
4.4



Question Number : 102 Question Id : 53307218457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

Al gl
B. ssldidys
Co sl e

E. Ko
Choose the correct answer from the options grven below:
LA B CDE
2.8 NGB B
3D CAER
4.B,C,D,A E

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307218457 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Arrange chronologically

A ol dsle

B. LalJl N>

Co sl b

D, wljar o
E. K4 do

Choose the correct answer from the options grven below:
LA B CIDE
2 0GR B
L AE T
4.B,C,D,A E

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307218458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Aol ke ol

B. bbb sluls

a3

oL b ol
D, Obgp oluls

Choose the correct answer from the options given below:
. B CED
2. CABED
3. ACBIDE
4. &BCILE

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307218458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Aol ke ol

B. bbb sluls

a3

oL b ol
D, Obgp oluls

Choose the correct answer from the options given below:
. B CED
2. CABED
3. ACBIDE
4. &BCILE

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307218459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A ksl pdl Olgs

B. v byl e

s

103 48 3l ks
D. Wl g wlll g e

B e pll oy

Choose the correct answer from the options given below:
ABC.IO.E
2. BEDCA
3 DB el
4, E, DA B,C

Options :
1.1
2.2
3.3
4.4

—

Question Number : 104 Question Id : 53307218459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A ksl pdl Olgs

B. v byl e

s

103 48 3l ks
D. Wl g wlll g e

B e pll oy

Choose the correct answer from the options given below:
ABC.IO.E
2. BEDCA
3 DB el
4, E, DA B,C

Options :
1.1
2.2
3.3
4.4

—

Question Number : 105 Question Id : 53307218460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A wp¥ pls e 4l

B. iy pub

2

C}U.U‘ CJIﬁ
D. b b

E. 3 o) 43l wld

Choose the correct answer from the options given below:
[.A,B,C,D,E

2.A/D,B,E,C

.G D ABE

4.D,E,C,B,A

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307218460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A wp¥ pls e 4l

B. iy pub

2

C}U.U‘ CJIﬁ
D. b b

E. 3 o) 43l wld

Choose the correct answer from the options given below:
[.A,B,C,D,E

2.A/D,B,E,C

.G D ABE

4.D,E,C,B,A

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307218461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁbb
A sy eld s 0 S5

B. 5 ds gl wd

@

.C.-w"‘ .._.JLS &;JJ‘ sL_JjY‘ w

D. wlw@w J‘y—‘ C}..u 53 ;L_Jﬂli'.;..«

Eo ozl ogKalfs Ol ol plisl pS|

Choose the correct answer from the options given below:
I. A B, & COnly

2.A,B,C, &D Only

3.A,BC, & E Only

4.A,B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307218461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁbb
A sy eld s 0 S5

B. 5 ds gl wd

@

.C.-w"‘ .._.JLS &;JJ‘ sL_JjY‘ w

D. wlw@w J‘y—‘ C}..u 53 ;L_Jﬂli'.;..«

Eo ozl ogKalfs Ol ol plisl pS|

Choose the correct answer from the options given below:
I. A B, & COnly

2.A,B,C, &D Only

3.A,BC, & E Only

4.A,B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307218462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S
A bl ko 81 55 g o0 WY [PV 3

o

D. ol b b kg e 4 Sy

E. ol e s 2

Choose the correct answer from the options given below:
1.A, B,C, & E Only

2.A,B,D &E Only

3.A, B, & E Only

4.A,B,C,D &E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307218462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S
A bl ko 81 55 g o0 WY [PV 3

o

D. ol b b kg e 4 Sy

E. ol e s 2

Choose the correct answer from the options given below:
1.A, B,C, & E Only

2.A,B,D &E Only

3.A, B, & E Only

4.A,B,C,D &E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307218463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sy B
A. .Jﬁd)%ﬁnﬂjﬁu

B. .».:.aw‘ Jjj#ﬁﬂj PL.

C. .J;f&&* u.ﬂa\.ﬂ:- J}l

D. .. 03 ¢ JL' Q;...a J;Ub- u.;lg.b‘)

Bl $Yeb Ll UL &b

Choose the correct answer from the options given below:
[.A, B, C, &D Only

2.A,C,D &E Only

3.A C, & D Only
4.A, B, C, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307218463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sy B
A. .Jﬁd)%ﬁnﬂjﬁu

B. .».:.aw‘ Jjj#ﬁﬂj PL.

C. .J;f&&* u.ﬂa\.ﬂ:- J}l

D. .. 03 ¢ JL' Q;...a J;Ub- u.;lg.b‘)

Bl $Yeb Ll UL &b

Choose the correct answer from the options given below:
[.A, B, C, &D Only

2.A,C,D &E Only

3.A C, & D Only
4.A, B, C, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307218464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



sl S lans

Al d..ujb S (:Um -L:-U:-».d.JU

a4

D. el adis Ol 0480

B el el cdg 0L iy

Choose the correct answer from the options given below:
[.A B, & C Only

2.A, B, C, & D Only

3.A C,D &E Only

4.A, B,C,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307218464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



sl S lans

Al d..ujb S (:Um -L:-U:-».d.JU

a4

D. el adis Ol 0480

B el el cdg 0L iy

Choose the correct answer from the options given below:
[.A B, & C Only

2.A, B, C, & D Only

3.A C,D &E Only

4.A, B,C,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307218465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YU

B. .J)S J.JL ‘}‘9& J.waiﬂw,l.w

4

ol 0 s 5 QLS 505 3

Dol Bl 2 4

E el o pan Ko Gl Ol il 5 LA il
Choose the correct answer from the options given below:
[.A B, & C Only

2.A,B,C, &D Only

3.A,B,D, & E Only
4.A B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307218465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YU

B. .J)S J.JL ‘}‘9& J.waiﬂw,l.w

4

ol 0 s 5 QLS 505 3

Dol Bl 2 4

E el o pan Ko Gl Ol il 5 LA il
Choose the correct answer from the options given below:
[.A B, & C Only

2.A,B,C, &D Only

3.A,B,D, & E Only
4.A B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307218466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S0 o

A. .».:.nw‘ QJ?«.U C"‘ Q L]J-ﬁ )U] JL GM bi:.«

B. Ol e sl Dl o iyl e T

€2

] vﬁ&lhgu;&.@f.oﬁbnbfr.lb@lé; :NE-O)UIJ
B eulls i gd ghd pu o ol L gl

Choose the correct answer from the options given below:
[.A, B, & C Only

2.A,B,C, & E Only

3.A, C, & D Only

4.A,B,C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307218466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S0 o

A. .».:.nw‘ QJ?«.U C"‘ Q L]J-ﬁ )U] JL GM bi:.«

B. Ol e sl Dl o iyl e T

€2

] vﬁ&lhgu;&.@f.oﬁbnbfr.lb@lé; :NE-O)UIJ
B eulls i gd ghd pu o ol L gl

Choose the correct answer from the options given below:
[.A, B, & C Only

2.A,B,C, & E Only

3.A, C, & D Only

4.A,B,C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dLu.Lw..\.s.w 3 gewedd
Al Lis & Ol

B 5 S UMY 53 st

®

mil3 fan g3 (6658 g o L
D g 58 el ) e Olojle O
E. &l 83 § po CJL;w-:P- & Ll

Choose the correct answer from the options given below:
[.A,B,C&D Only

2.A,B,D &E Only
3.B,C,D, & E Only
4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dLu.Lw..\.s.w 3 gewedd
Al Lis & Ol

B 5 S UMY 53 st

®

mil3 fan g3 (6658 g o L
D g 58 el ) e Olojle O
E. &l 83 § po CJL;w-:P- & Ll

Choose the correct answer from the options given below:
[.A,B,C&D Only

2.A,B,D &E Only
3.B,C,D, & E Only
4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307218468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ol

B. .l K R

P!

D, sbd 5 5t O S 4
Bl odd cdg s

Choose the correct answer from the options given below:
[.A, B, & C Only

2.A, C& D Only

3.A, D, & E Only

4.A, B, C,D &E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307218468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ol

B. .l K R

P!

D, sbd 5 5t O S 4
Bl odd cdg s

Choose the correct answer from the options given below:
[.A, B, & C Only

2.A, C& D Only

3.A, D, & E Only

4.A, B, C,D &E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307218469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sogbes Pl g0

A s 4l

a2

ol 4 4 S e 9558 )k

Dol dhles g o ) b (2L ) DS oy g

. opadddypmsg Suj » pli L ol

Choose the correct answer from the options given below:
[.A, B & C Only

2.A,B&D Only

3.A,B,D, & E Only

4.A,B,C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307218469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sogbes Pl g0

A s 4l

a2

ol 4 4 S e 9558 )k

Dol dhles g o ) b (2L ) DS oy g

. opadddypmsg Suj » pli L ol

Choose the correct answer from the options given below:
[.A, B & C Only

2.A,B&D Only

3.A,B,D, & E Only

4.A,B,C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 bl
A. o] ca- iuLU.a..u

C. ol by o )l p Jl> e S
Dl @i ;.._:\:.‘5

Choose the correct answer from the options given below:
[.A & B Only
2.A & C Only
3.B & C Only
4.C & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 bl
A. o] ca- iuLU.a..u

C. ol by o )l p Jl> e S
Dl @i ;.._:\:.‘5

Choose the correct answer from the options given below:
[.A & B Only
2.A & C Only
3.B & C Only
4.C & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307218471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(ﬁ-ﬁdsﬂju

A dipads g b ol
B adbp s bt o 4

C. iy s b wl el
D. .:ﬁ@‘ljﬁbaww 99 )8

E. ch’]adby}.ﬁaﬂabwb

Choose the most appropriate answer from the options given below:
|.A, B, & E Only
2.B,C, & E Only
3.A, B, &D Only
4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307218471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(ﬁ-ﬁdsﬂju

A dipads g b ol
B adbp s bt o 4

C. iy s b wl el
D. .:ﬁ@‘ljﬁbaww 99 )8

E. ch’]adby}.ﬁaﬂabwb

Choose the most appropriate answer from the options given below:
|.A, B, & E Only
2.B,C, & E Only
3.A, B, &D Only
4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307218472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



bl oo

A df gp b lhly )l b
B. o s WYY i o

Co clyogy bbb g0 3 k> )
D ayfs ly Ve gy 0L

B ophptigo 4 Cul) il ool

Choose the most appropriate answer from the options given below:
[.A, B, &D Only
2.B,C, & D Only
3.C,D, & E Only
4.A, B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307218472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



bl oo

A df gp b lhly )l b
B. o s WYY i o

Co clyogy bbb g0 3 k> )
D ayfs ly Ve gy 0L

B ophptigo 4 Cul) il ool

Choose the most appropriate answer from the options given below:
[.A, B, &D Only
2.B,C, & D Only
3.C,D, & E Only
4.A, B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307218473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s b

A idp iy p
B. .JJJIMJQQM";}JW :MJ.MJJ
) S g0 o 2w ) ot

E. .\:.'-éli Quj J"‘.JE )J

Choose the most appropriate answer from the options given below:
[.A, B, &D Only
2.C,D, & E Only
3.B,C, & D Only
4.A, B, & C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307218473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s b

A idp iy p
B. .JJJIMJQQM";}JW :MJ.MJJ
) S g0 o 2w ) ot

E. .\:.'-éli Quj J"‘.JE )J

Choose the most appropriate answer from the options given below:
[.A, B, &D Only
2.C,D, & E Only
3.B,C, & D Only
4.A, B, & C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307218474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sl 3

A g sspop fup Ul ) &

B a8 sise s by w db L9
Coaf g sgou b b
D. ool sl ol g gt ki

B dgpag g

Choose the most appropriate answer from the options given below:
[.B & D Only
2.A & C Only
3.C & E Only
4.A & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307218474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sl 3

A g sspop fup Ul ) &

B a8 sise s by w db L9
Coaf g sgou b b
D. ool sl ol g gt ki

B dgpag g

Choose the most appropriate answer from the options given below:
[.B & D Only
2.A & C Only
3.C & E Only
4.A & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307218475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o g
A sl gVl o b

B. .l SOy

)

o J &by (el OIS
) SR 17 W STy
B ap o o s oo

Choose the most appropriate answer from the options given below:
[.A, B, & C Only
2.A, C,& D Only
3.A D, &E Only
4.A, C,&E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307218475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o g
A sl gVl o b

B. .l SOy

)

o J &by (el OIS
) SR 17 W STy
B ap o o s oo

Choose the most appropriate answer from the options given below:
[.A, B, & C Only
2.A, C,& D Only
3.A D, &E Only
4.A, C,&E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sogles s
A. ) cgﬂ‘ o;.b E.L..J‘g.n

B, als ke Obgte 50 byl

®

3 fo iy e

D. .J.J'Gl.h_;p JU:.G :L..wy (4 Lo &)

B ol ki g JHll ghu

Choose the most appropriate answer from the options given below:
[.A & B Only
2.B &D Only
3.D & E Only
4. A & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sogles s
A. ) cgﬂ‘ o;.b E.L..J‘g.n

B, als ke Obgte 50 byl

®

3 fo iy e

D. .J.J'Gl.h_;p JU:.G :L..wy (4 Lo &)

B ol ki g JHll ghu

Choose the most appropriate answer from the options given below:
[.A & B Only
2.B &D Only
3.D & E Only
4. A & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



58

Al s s

B. kg 0ol 31 68

®

ol Al b (4l disd)
D. D4 po mbgu&cﬁﬁ}rp’-”o‘

E. .Ml.!dﬂ a»U&J ;J}Jw )‘jﬂl éb

Choose the most appropriate answer from the options grven below:
l.A, C, & E Only
2.B,D, & E Only
3.A, B, &D Only
4.C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



58

Al s s

B. kg 0ol 31 68

®

ol Al b (4l disd)
D. D4 po mbgu&cﬁﬁ}rp’-”o‘

E. .Ml.!dﬂ a»U&J ;J}Jw )‘jﬂl éb

Choose the most appropriate answer from the options grven below:
l.A, C, & E Only
2.B,D, & E Only
3.A, B, &D Only
4.C,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307218478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



iy )

A .;.au_uj:;glr,mﬁ
B. g

Co g edyl ol ol s
D. .M@({Md:)gﬁw

Eo ol b s b gams 1 s 4 50

Choose the most appropriate answer from the options given below:
[.A, C,&D Only

2.C,D, & E Only

3.B,C,&D Only

4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307218478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



iy )

A .;.au_uj:;glr,mﬁ
B. g

Co g edyl ol ol s
D. .M@({Md:)gﬁw

Eo ol b s b gams 1 s 4 50

Choose the most appropriate answer from the options given below:
[.A, C,&D Only

2.C,D, & E Only

3.B,C,&D Only

4.B,D, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307218479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9 g4l s

B, sp esiih &

C. oy Kl ) s Syl
D. g J“J"‘ j‘ J’i)'u 6‘;] Oladkas 33)5 R ’,

B S guph 0gdlls 3 30 S

Choose the most appropriate answer from the options given below:
l.A, B, & D Only
2.B,C, & D Only
3.B,D, & E Only
4.A, C, & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307218479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9 g4l s

B, sp esiih &

C. oy Kl ) s Syl
D. g J“J"‘ j‘ J’i)'u 6‘;] Oladkas 33)5 R ’,

B S guph 0gdlls 3 30 S

Choose the most appropriate answer from the options given below:
l.A, B, & D Only
2.B,C, & D Only
3.B,D, & E Only
4.A, C, & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el dsly
A Wl g VY L s
B. .l gl Gl il sl gl &

U ety _,L'fl 8 G
D. el e gl o b 990 sy ¢

E gl by Sa

Choose the most appropriate answer from the options given below:
[.B,C, & D Only
2.C,D, & E Only
3.A C,&D Only
4.A, B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el dsly
A Wl g VY L s
B. .l gl Gl il sl gl &

U ety _,L'fl 8 G
D. el e gl o b 990 sy ¢

E gl by Sa

Choose the most appropriate answer from the options given below:
[.B,C, & D Only
2.C,D, & E Only
3.A C,&D Only
4.A, B, & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307218481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- 1

List-I

B. )Lw‘ 6‘&)3
C. ol 2,

D. s 51

L el ol i,

I dew

V. ghy das

Choose the correct answer from the options given below:

LA B[ CIL
LAL BIL GV,
AL B GO
LADL B G
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id
Correct Marks : 2 Wrong Marks : 0

D- 1V
D-1

D-IV
D-1V

: 53307218481 Question Type : MCQ Option Shuffling : No




List- 1

List-I

B. )Lw‘ 6‘&)3
C. ol 2,

D. s 51

L el ol i,

I dew

V. ghy das

Choose the correct answer from the options given below:

LA B[ CIL
LAL BIL GV,
AL B GO
LADL B G
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id
Correct Marks : 2 Wrong Marks : 0

D- 1V
D-1

D-IV
D-1V

: 53307218482 Question Type : MCQ Option Shuffling : No




List- | List-11
A plijyd ot [ dl gl Sk
B. i j 0 L ko dlas oy sl oy oo
C. i S o o My s
D. der o o 8 V. i i gl S

Choose the correct answer from the options grven below:

LA BV,  CL o DA
LA B CGIV, o D
LAV, Bl G D
LA BV, G D
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 53307218482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-11
A plijyd ot [ dl gl Sk
B. i j 0 L ko dlas oy sl oy oo
C. i S o o My s
D. der o o 8 V. i i gl S

Choose the correct answer from the options grven below:

LA BV,  CL o DA
LA B CGIV, o D
LAV, Bl G D
LA BV, G D
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307218483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-Il

A s ks L bl
B. & s I b
C. gk b ML ok ol oS
D. ¢ sl i V. gl Yo

Choose the correct answer from the options given below:

LAL  BIL GV,
LAN, Bl Gl
AL B G
LA B G

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id
Correct Marks : 2 Wrong Marks : 0

D-I

D-IlI
D-IV
D-IV

: 53307218483 Question Type : MCQ Option Shuffling : No



List- | List-Il

A s ks L bl
B. & s I b
C. gk b ML ok ol oS
D. ¢ sl i V. gl Yo

Choose the correct answer from the options given below:

LAL  BIL GV,
LAN, Bl Gl
AL B G
LA B G

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id
Correct Marks : 2 Wrong Marks : 0

D-I

D-IlI
D-IV
D-IV

: 53307218484 Question Type : MCQ Option Shuffling : No



List- |

List-I

A. Persian literature- A Bio-
bibliographical survey

B. Catalogue of the Persian
manuscripts n the British
Museum

C. Catalogue of the Persian,
Turkish, Hindustani and
Pashtu Manuscripts 1n the
Bodletan library

D. Concise descriptive
catalogue of the Persian
manuscripts 1n the collection
of Asiatic society of Bengal

[ Ivanow, W.

II. Herman Ethe

III. C. A Storey

IV. Charles Rieu

Choose the correct answer from the options given below:

1. A-IL B-1IL, C-L,
2. A, B-11, C-IIL
3. A, B-1, C-1I,
4. A-II, B-1V, C-1I,

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id
Correct Marks : 2 Wrong Marks : 0

D-IV
D-IV
D-IV
D-I

: 53307218484 Question Type : MCQ Option Shuffling : No



List- |

List-I

A. Persian literature- A Bio-
bibliographical survey

B. Catalogue of the Persian
manuscripts n the British
Museum

C. Catalogue of the Persian,
Turkish, Hindustani and
Pashtu Manuscripts 1n the
Bodletan library

D. Concise descriptive
catalogue of the Persian
manuscripts 1n the collection
of Asiatic society of Bengal

[ Ivanow, W.

II. Herman Ethe

III. C. A Storey

IV. Charles Rieu

Choose the correct answer from the options given below:

1. A-IL B-1IL, C-L,
2. A, B-11, C-IIL
3. A, B-1, C-1I,
4. A-II, B-1V, C-1I,

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id
Correct Marks : 2 Wrong Marks : 0

D-IV
D-IV
D-IV
D-I

: 53307218485 Question Type : MCQ Option Shuffling : No



D syb

List | List-II
A Lies L L Lyl
B. K L e

V. g b

Choose the correct answer from the

LAL Bl G

[
LALN, Bl C-IL
AL Bl C-10L,
LAL B CHIL
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id
Correct Marks : 2 Wrong Marks : 0

options given below:
D-IV
D-II
D-IV
D-IV

: 53307218485 Question Type : MCQ Option Shuffling : No



D syb

List | List-II
A Lies L L Lyl
B. K L e

V. g b

Choose the correct answer from the

LAL Bl G

[
LALN, Bl C-IL
AL Bl C-10L,
LAL B CHIL
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id
Correct Marks : 2 Wrong Marks : 0

options given below:
D-IV
D-II
D-IV
D-IV

: 53307218486 Question Type : MCQ Option Shuffling : No



List- | List-[l
A g pdl gl by b | Ll

' . i ; | :. .‘
B. ke S g ol Il g pidieol

T . 1 Ry
L g sy ol |

D. Gl ke v V. B8 pudl Gl

Choose the correct answer from the options given below:

[ AL 3L CIL DIV
LAL BV, )-[11
VAN BL CGIL DI
4 AIL BV, Gl )-Il
Options :
s

Question Number : 131 Question Id : 53307218486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-[l
A g pdl gl by b | Ll

' . i ; | :. .‘
B. ke S g ol Il g pidieol

T . 1 Ry
L g sy ol |

D. Gl ke v V. B8 pudl Gl

Choose the correct answer from the options given below:

[ AL 3L CIL DIV
LAL BV, )-[11
VAN BL CGIL DI
4 AIL BV, Gl )-Il
Options :
s

Question Number : 132 Question Id : 53307218487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-IT
A gl o o b [ co il

B. I s b deol L gli 53

C. g5l Il s 8

D. o v o Vo ds ¥

Choose the correct answer from the options grven below:

AL BV, CIL )-
2 AL B-[1 C-Il, DIV
3. AL 3-IV,  C DA
LA BV, G -1l
Options :
s

Question Number : 132 Question Id : 53307218487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-IT
A gl o o b [ co il

B. I s b deol L gli 53

C. g5l Il s 8

D. o v o Vo ds ¥

Choose the correct answer from the options grven below:

AL BV, CIL )-
2 AL B-[1 C-Il, DIV
3. AL 3-IV,  C DA
LA BV, G -1l
Options :
s

Question Number : 133 Question Id : 53307218488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-Il
A Gl o) [ il Ll
B. ppsndl l L agp g il
C. o ddl wg M g o phea
D. jo) IVl el S

Choose the correct answer from the options grven below:

LALL  BL  CIV, D
LALN, B GO D
LA BV, CGIL D

LAL B GIL o DIV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307218488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-Il
A Gl o) [ il Ll
B. ppsndl l L agp g il
C. o ddl wg M g o phea
D. jo) IVl el S

Choose the correct answer from the options grven below:

LALL  BL  CIV, D
LALN, B GO D
LA BV, CGIL D

LAL B GIL o DIV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307218489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- |

List-[l

A b i w g
B gpeidli

D. 4 ¥l 3l 542

L e i
L b o gl i
I o dow o

V. ol Jo e g o

Choose the correct answer from the options grven below:

[ AL -1 C-1V,
2LADL Bl C-Il
3 AL -1 CIL
LAN, B (L
Options :
s

Question Number : 134 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218489 Question Type : MCQ Option Shuffling : No



List- |

List-[l

A b i w g
B gpeidli

D. 4 ¥l 3l 542

L e i
L b o gl i
I o dow o

V. ol Jo e g o

Choose the correct answer from the options grven below:

[ AL -1 C-1V,
2LADL Bl C-Il
3 AL -1 CIL
LAN, B (L
Options :
s

Question Number : 135 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307218490 Question Type : MCQ Option Shuffling : No



List- |

List-1I

Ay

B, Juslad

C. ihSot

D. b

[ 4

H d.:.'...."&p
(IR
[V, kit

Choose the correct answer from the options given below:

[ AL B  CI
LAL BV, (1
AL Bl C-II
4 AV, B C-L
Options :
s

Question Number : 135 Question Id
Correct Marks : 2 Wrong Marks : 0

D-IV
D-I
D-IV
D-

: 53307218490 Question Type : MCQ Option Shuffling : No



List- |

List-1I

Ay

B, Juslad

C. ihSot

D. b

[ 4

H d.:.'...."&p
(IR
[V, kit

Choose the correct answer from the options given below:

[ AL B  CI
LAL BV, (1
AL Bl C-II
4 AV, B C-L
Options :
s

Question Number : 136 Question Id
Correct Marks : 2 Wrong Marks : 0

D-IV
D-I
D-IV
D-

: 53307218491 Question Type : MCQ Option Shuffling : No



List- | List-Il
A Lol I s [

B. oo [ aelols

C.of o prllis I O

Choose the correct answer from the options given below:

AL BV, (1 D-I
LAV, B (L D-I
3 AL B-IvV, CI DI
4 AL BIL GV, D
Options :
s

Question Number : 136 Question Id : 53307218491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-Il
A Lol I s [

B. oo [ aelols

C.of o prllis I O

Choose the correct answer from the options given below:

AL BV, (1 D-I
LAV, B (L D-I
3 AL B-IvV, CI DI
4 AL BIL GV, D
Options :
s

Question Number : 137 Question Id : 53307218492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-II

Akyydip L e ol G ol
B. Jla o L s oS

C. o4l [y ghgely

D. culs V.t 81 s

Choose the correct answer from the options given below:

LAL BV, CIL DI
LA BL o GV, D
AN BL o G DI
AL BL G DIV

I
I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307218492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-II

Akyydip L e ol G ol
B. Jla o L s oS

C. o4l [y ghgely

D. culs V.t 81 s

Choose the correct answer from the options given below:

LAL BV, CIL DI
LA BL o GV, D
AN BL o G DI
AL BL G DIV

I
I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307218493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-[l

A 3l da o Lk
B. Ladl 4 [ dys
C. g s il [ b il
D. g o V. o5k

Choose the correct answer from the options given below:

LAL  BL  CGIV, DI
AL B GIL DAV
AL BV, GL DI
LAL BL o GIL o DV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307218493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-[l

A 3l da o Lk
B. Ladl 4 [ dys
C. g s il [ b il
D. g o V. o5k

Choose the correct answer from the options given below:

LAL  BL  CGIV, DI
AL B GIL DAV
AL BV, GL DI
LAL BL o GIL o DV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307218494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



List- | List-I
A b L gV,
B,y LY g
C. Jy I Sl
D. jkf gl V.l

Choose the correct answer from the options given below:

ALV, Bl C-III
2. AL B  CIL
LA Bl C-IL
AL BV, G
Options :
s

Question Number : 139 Question Id
Correct Marks : 2 Wrong Marks : 0

DI
D-IV
D-IV
D-l

: 53307218494 Question Type : MCQ Option Shuffling : No



List- | List-I
A b L gV,
B,y LY g
C. Jy I Sl
D. jkf gl V.l

Choose the correct answer from the options given below:

ALV, Bl C-III
2. AL B  CIL
LA Bl C-IL
AL BV, G
Options :
s

Question Number : 140 Question Id
Correct Marks : 2 Wrong Marks : 0

DI
D-IV
D-IV
D-l

: 53307218495 Question Type : MCQ Option Shuffling : No



List- | List-I

A bl [y
B. dyp Loy
C. 0l g M 1)
D. > V. Uil

Choose the correct answer from the options grven below:

LAL B Gl
AN, Bl Gl
VAL BL o GV,
LAL BV, Gl
Options :
3

Question Number : 140 Question Id
Correct Marks : 2 Wrong Marks : 0

=
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T
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D

: 53307218495 Question Type : MCQ Option Shuffling : No



List- | List-I

A bl [y
B. dyp Loy
C. 0l g M 1)
D. > V. Uil

Choose the correct answer from the options grven below:

L AL

2 ALV,
3 AL
4AL

Options :
1.1
2.2
3.3
4.4

i
i
-
i

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

ol

=
B ~
4

T

-

4]

D

2

533072723

No




Question Id : 53307218496 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the passage carefully and answer the questions:

gl polss g Sals 3 ol polas g b i S 5 ) K Sl
ol 065 4 ol Sl sdd iz 25 0 i 4l 5] 3 i
@ (,dS0g) dlols Saj o g1l 5 005 )4 )y 08 Sy o bl
29 gy 7y b gb g o S
gl g g i Ll e gl 5 g s T J
b il bl e 5 ol 0 i3 fr
O o Llals 3 6 e 2 58 000 2 08 g Szl Jl 2 02 ol
it g Sl 03§ g @Qj@l) il gl 53 15 gl gla B ik
Gl gl b el gl pols Sl lla s 3 alisls 1§
S Ul g3 3 S5 gt b 0 0 Ko plts g dbr S oy
sl g o B U Uar b Ll by o 2 ) S 0

g S8

Sub questions

Question Number : 141 Question Id : 53307218497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fowl o5 Bl 0L rlJS s Calds @ale
[ SWI

0, |
R I

4. JJJ'I
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 53307218498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fedls e gyl pldS b calia (slo
[ glale K s
2. ghiw K b
3. Kol K b

4. LSJ" j.'uh}ﬁ

Options :



1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307218499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

> ol Olusl gl alda 3l Cud> ai;'f;je I
[, slale 0L

2. $lslo ‘_ﬁl}f él‘,

3. Jol o 7

o b Glas i g

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



?.'!_9.1 d.’-’.«.«.ﬂ.’t& J ks

- lr: L3

Lo
2. S3le > s
3Jp1:—5;-=g.l

48 ALy S b
Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307218501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬂ‘;..«*rl.u’ T PR - C).\a.a Lol &S Culdd Gy e OLS
[ o o kb 4w

O

308 S

4. 18 & ok



Options :
1.1
2.2
3.3
4.4

Question Id : 53307218496 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions:

WL PO KW [PPSR O GG [
bl 0 4 o ol a5 25 0 i 4 gl T3 3
@ () 9S05) dlols S g1 5 005 )4 )y 0 Sy o bl
2ol g kg £y b s Ghg popas K
gl gy 3 U S ol s o )8 g 3 Lopasu bl § g
i 0y i b s o g 9 o) 0 S o
b el Qs 32 g 8 b 52 G 00 2 0 g Sliz] s 2 Sl
it g Ll 03§ @J..,J.Qfl) il L@;l 2l gl gl S sk
Gyl gl i el U )yl Sl b lla ks 0 3 il 41§
S Ol g3 3 S5 gt b o 0 0 Ko gl g sy S o
s b g oo b g 50U O b Sl bl 5 o ] S Bl

g S

Sub questions

Question Number : 141 Question Id : 53307218497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fowl o5 Bl 0L rlJS s Calds @ale
[ SWI

0, |
R I

4. JJJ'I
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 53307218498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fedls e gyl pldS b calia (slo
[ glale K s
2. ghiw K b
3. Kol K b

4. LSJ" j.'uh}ﬁ

Options :



1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307218499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

> ol Olusl gl alda 3l Cud> ai;'f;je I
[, slale 0L

2. $lslo ‘_ﬁl}f él‘,

3. Jol o 7

o b Glas i g

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



?.'!_9.1 d.’-’.«.«.ﬂ.’t& J ks

- lr: L3

Lo
2. S3le > s
3Jp1:—5;-=g.l

48 ALy S b
Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307218501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬂ‘;..«*rl.u’ T PR - C).\a.a Lol &S Culdd Gy e OLS
[ o o kb 4w

O

308 S

4. 18 & ok



Options :
1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072724
Question Shuffling Allowed : No

Question Id : 53307218502 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage carefully and answer the questions:
Jow sgd> g3 ghar ool 4 Gy g Gl ols dews o Jlaadl gl Sl2L e
o e Wy e a0l slal O ol kel s 4 Olan 5 g om0 £AY
r%;&.&;g:l,a $o9ih gl blad cuS u dle o .l ekl Gy pus
Ll e g P2 Ol iy b 4 B 5 S o by g Sl e 4
i pdly DLl g W do )90 45 03] 338 oS Gl O Gl 3
I s ol il 33 gl 53 K6 BB g Al s 6 0 gl S 5 i
3 g3l by 51 Pl g b 56 pSa¥l s BT e Uk a3 3 8
sp Pl ol aidd 9 48 KL gl il B o 51 JI58 il 38
Jl;wl'@;.m,m_a:um,a;,t.g;du;wue.%xf@tﬁj,ol,
o Kl ol 3 0 OLgSa o 1y gl g Cudls g3b) e SlAl e b
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) 8 s g G153 g g sl ol 4y Olden S ey g
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Sub questions

Question Number : 146 Question Id : 53307218503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



¢ 03 4 5] PN aalas r'u.\f j'u C.JLJ:.EJ‘ s .3':..\.9:';
1. Olaea
2. JM:_-L@ JL&

3. &l

4. 515

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

C3g ool Lis & S 135> Slher oladl e

1. & s ek |
.8 S s ¢q.
3. dﬁ ;Y

4. S o £40



Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fodls ool e (S L I dem| 2ol
L. sl gy lll o153

2. e Slals 3

3. Slher Ol e

4. ;;&-U"}i}"

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307218506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Azl ogie I, S 2145 580 b
1. Slawa oladl e

2. 5 daxl plol

3. JIp dazee plol

4. >y r«LEJ'uﬁ';

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307218507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Cualoa S 3k Ugs b 1) Gl S 33 g 36 o)

l-;fiw(w"@:
2. sl s

Vil

4 oo

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218502 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage carefully and answer the questions:
Jow sgd> g3 ghar ool 4 Gy g Gl ols dews o Jlaadl gl Sl2L e
o e Wy e a0l slal O ol kel s 4 Olan 5 g om0 £AY
r%;&.&;g:l,a $o9ih gl blad cuS u dle o .l ekl Gy pus
Ll e g P2 Ol iy b 4 B 5 S o by g Sl e 4
i pdly DLl g W do )90 45 03] 338 oS Gl O Gl 3
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sp Pl ol aidd 9 48 KL gl il B o 51 JI58 il 38
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o Kl ol 3 0 OLgSa o 1y gl g Cudls g3b) e SlAl e b
S 3y b g3 Typ o bl Ol e I el b 5 oLl
K S o g 500 4 1y gl g Kl ) S5y LIS gl g A3 gy Ol
) 8 s g G153 g g sl ol 4y Olden S ey g
iyl Sar 1y gl 5l s Ol g 0 a8 3 e o el
Sub questions

Question Number : 146 Question Id : 53307218503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



¢ 03 4 5] PN aalas r'u.\f j'u C.JLJ:.EJ‘ s .3':..\.9:';
1. Olaea
2. JM:_-L@ JL&

3. &l

4. 515

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

C3g ool Lis & S 135> Slher oladl e

1. & s ek |
.8 S s ¢q.
3. dﬁ ;Y

4. S o £40



Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fodls ool e (S L I dem| 2ol
L. sl gy lll o153

2. e Slals 3

3. Slher Ol e

4. ;;&-U"}i}"

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307218506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Azl ogie I, S 2145 580 b
1. Slawa oladl e

2. 5 daxl plol

3. JIp dazee plol

4. >y r«LEJ'uﬁ';

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307218507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4





